Advanced Microeconomics
Assignment 
Instructions
(i)
Answer all questions except that the last Question 11 is optional.  Marks are as indicated in brackets; they add up to 100.

(ii)  Please write very clearly or type.

(iii) You can discuss the questions with classmates but must do the assignment independently.

(iv) Answer to the point; be precise and avoid unnecessary length.

--------------------------------------------------------------------------------------------

1.
The government has considered various subsidy and incentive programs to induce low-income families to live in better-quality housing than they would otherwise live in. Three plans are considered: 

(i)
Income subsidy: provide additional income I to a family that can be spent in any way. 

(ii)
Price subsidy: pay a fixed percentage p of a family's rent. 

(iii)
Voucher: pay an amount s toward a family's rent, provided the normal rent is at least R. 

Suppose commodities can be separated into housing (in amount x) and a general commodity representing all other goods (in amount z). Assume that a family has the following utility function 
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and a monthly income of $5,000. The government wishes this family to live in a house that rents for at least $1,500 per month. Suppose the prices of x and z are each $10 per unit. 

(a)
Without any subsidy, how much will the family spend on rent? 

(b)
Under each of the three plans above, how much subsidy would be required to induce the family to live in a flat renting for $1,500? 

(15 marks)

(2)
Explain why is the proof in Footnote 1 of the attached page not a very satisfactory one, as a proof that the transitivity of R (‘at least as preferable as’) implies the transitivity of P (‘preferred to’)?  Give a more satisfactory proof.


(15)
[Footnote 1 paraphrased: We want to prove that xPyPz implies xPz. Suppose xPz is not true. So zRx. But yRz. (From the given yPz.) So yRx from the transitivity of R. This contradicts the given xPy (which is equivalent to xRy & not yRx). The supposition that xPz is not true gives rise to a contradiction. So xPz must be true.]

(3)
Suppose that two goods i and j have the same income elasticity at (p,y).  Show that 







 (3)

(4)
A consumer has a utility function of the form 
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 (a)
Compute the Marshallian demand functions.


 (b)
Show that the indirect utility function is 
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 (c)
Compute the expenditure function.

     
(d)
Compute the Hicksian demand curves.


    (15)

 (5)
Given the following expenditure function (Diewert),
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  (a)
 Derive the Marshallian demands for x1 and x2.

(b)
Derive the Hicksian demands for x1 and x2.  


    (7)

(6)
Suppose at prices (p1, p2) = (5, 10) and income y = $100 a rational consumer demands the bundle (6, 7).  Assume we have measured the following derivatives,











Find an estimate of the consumption bundle of the consumer at (p1, p2) = (5, 11).  

(7)

(7)
A consumer has the expenditure function 
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What is the value of a?






     (3)

(8)
For what parameters (a, b, c, d, (, (, (, () are the following equations a valid system of factor demands?  Explain briefly.











(10)

(9)
Let f(x) be the production function for a firm with a constant-returns-to-scale technology.  Suppose each factor Xi is paid its value marginal product wi = p(f(x)((xi .  Show that profits must be 0.

(5)

(10)
Given the following production function:
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(a) Find the cost function c(w1, w2, y).

(b) Find the effect of an increase in output on marginal cost, and verify that the associated Lagrangean multiplier ( = marginal cost.

(c) Given p = price of output, find the unconditional input demand functions x1(w, p), x2(w, p) and profit function ((w, p).  Use Hotelling's lemma to derive the supply function y(w, p).  Verify that the supply function so derived agrees with the amount supplied in accordance with the production function above with inputs demanded in accordance with the unconditional input demand functions.

(d) Verify that the production function is homothetic.

(20)
[The following additional question is optional. No percentage marks are nominated but positive/negative marks will be given for good/bad answers. You are advised to answer it ONLY if you are confident of giving a good answer.]

(11) Answer either part A or part B:

A.
Extend or apply mesoeconomic analysis in some direction or to a particular  economic problem.

B. Show that the proposition that ‘the optimal tax-rate on a pure diamond good is arbitrarily high and impose no burden’ may have to be revised if some of the conditions used are relaxed. What is your revised result? (Hint: relax for example the assumption of a horizontal supply curve.)

_949926979.unknown

_1131432179.unknown

_1131432785.unknown

_1131432204.unknown

_1078572037.unknown

_1078572072

_1078572178

_949927143

_949927163

_949926787.unknown

_949926885.unknown

_949836947.unknown

